	1. 
Straight Line Depreciation
Some special handing devices are bought at the beginning of 2003 for $ 14,000. They will be used for 6 years at the end of
which they can be sold for $ 2,000. The devices will be depreciated using the Straight Line method.
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Note: *** indicates cells you will solve to answer the questions below

Question 1: 

Depreciation during 2005 is most nearly

(Points : 1) 
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	2. 
Using the given information from question 1, the Book Value at the end of 2006 is most nearly

 

(Points : 1) 
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MACRS I 

Petroleum drilling equipment is bought in July of 2003  for $ 14,000.     It will be used for 5 years at the end of which they can be sold for $ 2,000.      The equipment will be depreciated using the MACRS method.    For the purpose of the tax code, the equipment is considered a five-year property. 
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	1. 
MACRS I
Petroleum drilling equipment is bought in July of 2003 for $ 14,000. It will be used for 5
years at the end of which they can be sold for $ 2,000. The equipment will be
depreciated using the MACRS method. For the purpose of the tax code, the equipment
is considered a five-year property
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Note: *** indicates cells you will solve to answer questions on page 2 and question 1 on page 3.
Question 3: Depreciation during 2005 is most nearly

(Points : 1) 



	      [image: image11.wmf] $ 1,648
      [image: image12.wmf] $ 1,703
      [image: image13.wmf] $ 2,254
      [image: image14.wmf] $ 2,688




	2. 
Depreciation during 2007 is most nearly

(Points : 1) 
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3. 
The Book Value at the end of 2006 is most nearly

(Points : 1) 
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SOYD Depreciation 

Some special handing devices are bought at the beginning of 2003  for $ 14,000.     They will be used for 6 years at the end of which they can be sold for $ 2,000.      The devices will be depreciated using the Sum-of-Years Digits method. 
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	1. 
The Book Value at the end of 2008 is most nearly

(Points : 1) 
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	2. 
SOYD Depreciation
Some special handing devices are bought at the beginning of 2003 for $ 14,000. They will be used for 6 years at the end of which they can be sold for $ 2,000. The devices will be depreciated using the Sum-of-Years Digits method.
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Note: *** indicates cells you will solve to answer question 2 on page 3 through question 1 on page 4.


Question 7: Depreciation during 2005 is most nearly

(Points : 1) 
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3. 
Depreciation during 2006 is most nearly

(Points : 1) 
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Double Declining Balance 

Some special handing devices are bought at the beginning of 2003  for $ 14,000.     They will be used for 6 years at the end of which they can be sold for $ 2,000.      The devices will be depreciated using the Double Declining Balance method. 
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	1. 
The Book Value at the end of 2006 is most nearly

(Points : 1) 
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	2. 
Double Declining Balance
Some special handing devices are bought at the beginning of 2003 for $14,000. They will be used for 6 years at the end of which they can be sold for $ 2,000. The devices will be depreciated using the Double Declining Balance method.
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Note: *** indicates cells you will solve to answer question 2 page 4 to question 1 page 5.

Question 10: Depreciation during 2005 is most nearly

(Points : 1) 
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3. 
Depreciation during 2006 is most nearly 

(Points : 1) 
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4. 
 The Book Value at the end of 2006 is most nearly

(Points : 1) 

      [image: image49.wmf] $ 1,885
      [image: image50.wmf] $ 2,160
      [image: image51.wmf] $ 2,592
      [image: image52.wmf] $ 2,765




MACRS II 

Equipment for automobile production is bought in July of 2005  for $ 160,000.     It will be used for 7 years .      The equipment will be depreciated using the MACRS method.    For the purpose of the tax code, the equipment is considered a seven-year property.
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	1. 
The Book Value at the end of 2008 is most nearly

(Points : 1) 
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	2. 
MACRS II
Equipment for automobile production is bought in July of 2005 for $160,000. It will be used for 7 years. The equipment will be depreciated using the MACRS method. For the purpose of the tax code, the equipment is considered a seven-year property.
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Note: *** indicates cells you will solve to answer page 5 question 2 to page 6 question 1.


Question 14: Depreciation during 2005 is most nearly

(Points : 1) 
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3. Depreciation during 2007 is most nearly (Points : 1) 
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4. 
Depreciation during 2012 is most nearly

(Points : 1) 
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5. 
The Book Value at the end of 2006 is most nearly

(Points : 1) 
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Problem 11-15 
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Using the problem details in the text, answer the following multiple choice questions: 

	1. The Book Value at the end of 2010 is most nearly (Points : 1) 
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	2. Problem 11-15
Using the problem details in the text, answer question 2 page 6 and question 1 page 7:

Question 19: The depreciation for the fourth year by the Sum-of-Years digits method is most nearly:  (Points : 1) 
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Problem 11-13 
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Using the problem details in the text, answer the following multiple choice questions: 

	1. The depreciation by the Unit of Production Method (UOP) during the seventh year is most nearly: (Points : 1) 
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	2. Problem 11-13
Using the problem details in the text, answer 
page 7 question 2 to question 6:

Question 21: Depreciation Schedule A was calculated using: (Points : 1) 
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3. Depreciation Schedule B was calculated using: (Points : 1) 

      [image: image95.wmf] Straight Line Depreciation
      [image: image96.wmf] Sum of Years Digits Depreciation(SYOD)
      [image: image97.wmf] Double Declining Balance Depreciation (DDB)
      [image: image98.wmf] MACRS Depreciation
      [image: image99.wmf] Unit of Production Depreciation (UOP)


4. Depreciation Schedule C was calculated using: (Points : 1) 
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5. Depreciation Schedule D was calculated using: (Points : 1) 
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6. Depreciation Schedule E was calculated using: (Points : 1) 
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Problem 11-5 
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Using the problem details in the text, answer the following multiple choice questions: 

	1. Problem 11-5
Using the problem details in the text, answer 
page 8 question 1 to question 4:

Question 26: The straight line depreciation for the fifth year is most nearly: (Points : 1) 
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	2. The Double Declining Balance (DDB) depreciation for the fourth year is most nearly: (Points : 1) 
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3. The Sum-of-years depreciation for the seventh year is most nearly: (Points : 1) 
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4. The MACRS depreciation in the sixth year is most nearly: (Points : 1) 
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Problem 11-23 
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Using the problem details in the text, answer the following multiple choice questions: 

	1. Problem 11-27
Using the problem details in the text, answer 
page 9 questions:

Question 30: The depreciation in the first year calculated by the SOYD method is most nearly: (Points : 1) 
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	2. The depreciation in the fourth year calculated by the UOP method is most nearly: (Points : 1) 
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3. Which method would you recommend the company adopt? (Points : 2) 
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